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#include <stdio.h>
#include <wiringPi.h>
#include <unistd.h>
#include <signal.h>
#include <stdlib.h>

#define PORT (27)

#define LED (29)

#define IPADDR "192.168.1.4" // IP Address for Server. Please change this value.
#define TCPPORT (9022)

#define BUFFER_SIZE  (2048)

#define MAX_COUNT  (10000)

#define FETCH_TIME  (600)

#define NOCNT "NOCNT\0"
#define CNT_BUFFER_SIZE (100)
#define LEDON (1)

#define LEDOFF (0)

// #define  DEBUG 1



int timeover = 0;
extern void ClientSendData(char *,char *,int);

void timeisover()

{
timeover = 1;

}

#if 1
void LEDACction(void)
{

int fret;

if(0 > (fret = fork())) // fork Error

exit(1);

else if (0 <fret)  // Parent
{
(void)signal(SIGCHLD,SIG_IGN);
return;
}

else if(0 == fret)  // Child
{
digitalWrite(LED,LEDOFF);
delay(300);
digitalWrite(LED,LEDON);
exit(0);
}

}

#else

void LEDAction(void)

{

digitalWrite(LED,LEDOFF);

}

#endif

int main(void){
int data,datap,i;

#ifndef DEBUG
if(0 != fork())
exit(0);
#endif

if(0 > wiringPiSetup())
{
printf("No wiringPi.\n");
return 1;



}

pinMode(PORT,INPUT);
pinMode(LED ,OUTPUT);

datap = digitalRead(PORT);
i=0;

#ifdef DEBUG
printf("Now Status=[%d]\n",datap);

#endif
(void)signal(SIGALRM,timeisover);
alarm(FETCH_TIME);
timeover = 0;
ClientSendData("00000\0",IPADDR,TCPPORT); // Send Activated Sign for the Server.
digitalWrite(LED,1); // Connection OK. LED ON.
for(;;){
if(timeover)
{
char bufx[CNT_BUFFER_SIZE + 2];
sprintf(bufx,"%05d\0",i); // Counter Value writeout.
i=0; // Counter Reset.
ClientSendData(bufx,IPADDR,TCPPORT); // Send Data to Server.
#ifdef DEBUG
printf("SEND[%s]\n",bufx);
#endif
(void)signal(SIGALRM,timeisover); /I Set next signal.
alarm(FETCH_TIME); // Set next fetch time.
timeover = 0; // Reset TIMEOUT flag.
continue;
}

data = digitalRead(PORT);

if(datap != data)
{
char buffer[BUFFER_SIZE +2];

datap = data;

if(data !=0)
{
it++;

#ifdef DEBUG
printf("[%06d]GPIO%d = %d\n",i,PORT,data);



#endif
LEDACction();
}

}

return O;

@47l S AT THELN TR By —A"—LDBERFEHPD7 27 5 A(tcpdli.c)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <ctype.h>
#include <errno.h>
#include <sys/types.h>
#include <sys/ioctl.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <netdb.h>
#include <sys/stat.h>
#include <fcntl.h>
#include <unistd.h>

/* Global valiables */
struct sockaddr_in client_addr; // write socket

/*
Connect to Server
*/
int  ConnectServer(char *ipaddr, int port)
{
int sockfd; // Listen Socket File Descripter

if(0 > (sockfd = socket(PF_INET, SOCK_STREAM,0))) // Make Socket

{

perror("reader: socket");

return (-1);

}
bzero((char *)(&client_addr),sizeof(client_addr));  // clear struct for read
client_addr.sin_family = PF_INET; // set value to struct
client_addr.sin_addr.s_addr = inet_addr(ipaddr); // set value to struct
client_addr.sin_port = htons(port); // set value to struct

if(0 > connect(sockfd,(struct sockaddr *)(&client_addr),sizeof(client_addr)))



{

perror("Client: Cannot Connect\n");

close(sockfd);
return (-1);
}
return sockfd;
}
/*
Send Data to Server
*/

int SendDataToServer(int fd,char *data,int datalen)

{

if(0 > write(fd,data,datalen))
{
perror("Client: Cannot Send.\n");
close(fd);
return (-1);
}

return datalen;

}

/*

Client systen Send Data

*/

int ClientSendData(char *bufx,char *ipaddrx,int portx)

{
int sockax;
int len;

char cntbuff[256];

if(0 > (sockax = ConnectServer(ipaddrx,portx)))

{
printf("CLIENT: Cannot Connect Server.\n");

return(-1);

}

len = strlen(bufx);
sprintf(cntbuff,"%-6d\0",len);

SendDataToServer(sockax,cntbuff, CNTLEN); /I Send Data Length.
SendDataToServer(sockax,bufx,len); // Send data.
close(sockax); // Close Socket.

return len;

}
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#include <stdio.h>
#include <stdlib.h>
#include <unistd.h>
#include <time.h>
#include <string.h>

// #define DEBUG 1 // If debug, Set 1

#define PORT (9022)
#define LOW_VALUE  (45)

extern int  Serverlnit(int);

extern int ~ WaitIncomming(int);

extern void  ServerReadDatas(char *,int);
extern char  *AcceptedIP;

#define BUFFER_SIZE (2048)

#define FETCH_TIME  (600) //fetch time is 1-min

#define HTML_FILE "/var/www/xxxx/human/index.html" // Result HTML file
#define HTML_URL "http://xxxx.or.jp/human/index.html" // Result HTML URL

#define EMAIL_FILE  "/home/xxxx/human/email" // Email text temporaly file
#define TO_LINE "To:%s\n"

#define TO_ADDRESS  "xxxx@xxxx.com" // Email Send to xxxx@xxxXx.com
#define FROM_LINE "From:%s\n"

#define FROM_ADDRESS '"yyyy@yyyy.com" // Email From Address

#define SUBJECT_LINE "Subject:%s\n"

#define SUBJECT "Human Moving Report"

#define NOCNT "NOCNT\0"

#define NOT_ACTIVE (2)

#define ACTIVE (500)

#define CNTBUF_NUM  (20)

#define BAR_LEN (100)

#define BAR_RATE (100)

#define NETSTAT_FILE "/home/xxxx/human/netstat.txt" // Netstat temporaly file
#define NETSTAT _COMMAND "/bin/netstat -t -n | /bin/grep 192.168.1 | /bin/grep %d > %s"


mailto:yyyy@yyyy.com
mailto:yyyy@yyyy.com
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int cntbuf[CNTBUF_NUM];

void Clearcntbuf(void)
{

int i

for(i=0;i < CNTBUF_NUM ; ++i)
cntbuf[i] = 0;
}

// SendEmail Real

/*
Send E-Mail
*/

void SendEmail(char *body)

{

FILE *fp;

FILE *fpin;

int i

char EmailCommandLine[BUFFER_SIZE + 1];

if((FILE *)NULL == (fp = fopen(EMAIL_FILE,"w")))
{
printf("Cannot open Email File[%s]\n",EMAIL_FILE);
exit(1);
}

sprintf(EmailCommandLine, NETSTAT_COMMAND,PORT,NETSTAT_FILE);
system(EmailCommandLine);

if((FILE *)NULL == (fpin = fopen(NETSTAT_FILE,"r")))
{
printf("Cannt Open NETSTAT_FILE[%s]\n",NETSTAT_FILE);
exit(1);
}

fprintf(fp, TO_LINE,TO_ADDRESS);
fprintf(fp, FROM_LINE,FROM_ADDRESS);
fprintf(fp, SUBJECT_LINE,SUBJECT);
fprintf(fp,"\n\n");

for(i = 0;i < 100 ; ++i)
{
char *pp;
char NetstatLine[BUFFER_SIZE];



if((char *)NULL == fgets(NetstatLine, BUFFER_SIZE,fpin))
{
fclose(fpin);
break;
}

else

{
fprintf(fp,"%s",NetstatLine);

}
}

fprintf(fp,"\n\n");
fprintf(fp,"%s\n\n%s\n\n.\n\n",body, H-TML_URL);

fclose(fp);

sprintf(EmailCommandLine,"/usr/sbin/sendmail %s < %s",TO_ADDRESS,EMAIL_FILE);
system(EmailCommandLine);

}

// Send Email Interval

void SendEmaillnterval(int mincnt)

{
char buffern[BUFFER_SIZE + 2];
char *p;

time_t now;
char *nowtime;

(void)time(&now); /* Get time for now */
nowtime = ctime(&now); /* convert to strings */

for(p = nowtime ; (*p) != (char)0 ; p++)
if((char)("\n') == (*p))

{

*p = (char)0;
break;

}

#ifdef DEBUG
printf("[%s] Count=%d in %d sec.\n",nowtime,mincnt, FETCH_TIME);
#endif

if(NOT_ACTIVE > mincnt)

sprintf(buffern,"[%s] NOT-ACTIVE: X In %d sec. there are %d actions.\
n",nowtime, FETCH_TIME,mincnt);
else if(ACTIVE > mincnt)



sprintf(buffern,"[%s] ----ACTIVE: *** In %d sec. there are %d actions.\
n",nowtime, FETCH_TIME,mincnt);
else

sprintf(buffern,"[%s] EXT-ACTIVE: ***** [n %d sec. there are %d actions.\
n",nowtime, FETCH_TIME,mincnt);

SendEmail(buffern);
}

// Make Web Pages

void MakeWebPage(int cnt_fetch)
{

FILE *fp;

time_t now;

char *nowtime;

char *p;

int i

for(i = (CNTBUF_NUM -1);i>0; --i)
cntbuf[i] = cntbuf[i - 1];

cntbuf[0] = cnt_fetch;

if((FILE *)NULL == (fp = fopen(HTML_FILE,"w")))
{
printf("Cannot open FILE[%s]\n",HTML_FILE);
exit(1);
}

fprintf(fp,"<HTML>\n");

fprintf(fp,"<HEAD>\n");

fprintf(fp,"<meta http-equiv=\"Refresh\" content=\"%d\">\n",FETCH_TIME);
fprintf(fp,"<TITLE>Human Alive Check</TITLE>\n");
fprintf(fp,"</HEAD>\n");

fprintf(fp,"<BODY>\n");

(void)time(&now); /* Get time for now */
nowtime = ctime(&now); /* convert to strings */

for(p = nowtime ; (*p) != (char)0 ; p++)
if((char)("\n') == (*p))

{

*p = (char)0;
break;

}

for(i=0;i <CNTBUF_NUM ; ++i)
{



int blen;
char bar[BAR_LEN + 2];
int ix;

if(LOW_VALUE >= cntbuf]i])
l{nar[O] =(char)('-);
bar[1] =(char)0;

else if(Bz}xR_RATE > cntbuf[i])
l}ar[O] = (char)0;

{
blen = cntbuf[i] / BAR_RATE;

else

for(ix = 0 ; ix < blen ; ++ix)
{
bar[ix] = (char)("*");
}

bar[blen] = (char)0;

}
fprintf(fp,"[%03d min ago] [%06d] %s<br>\n",(i * 10),cntbuf[i],bar);

}

fprintf(fp,"<br>\n");
fprintf(fp,"TP=[%s]",AcceptedIP);
fprintf(fp,"<br>\n");

if(0 < cnt_fetch)

fprintf(fp,"** [%s] ALIVE. COUNT=[%d]<br><br>\n",nowtime,cnt_fetch);
else

fprintf(fp,"** [%s] NOT ALIVE?<br><br>\n",nowtime);

fprintf(fp,"</BODY>\n");
fprintf(fp,"</HTML>\n");

fclose(fp);
}

// TIMEOUT FUNCTION

int main()

{

int socka,sockb;



char buffer[ BUFFER_SIZE+2];

#ifndef DEBUG

if(0 = fork()) /* if it's a parent, then quit */
exit(0);

#endif

Clearcntbuf(); /* Count Buffer Clear */

for(;;)
{
if(0 > (socka = Serverlnit(PORT)))

{
printf("cannot init TCP/IP.\n");

exit(1);
}

if(0 > (sockb = WaitIncomming(socka)))

{
printf("No Datas.\n");

exit(1);
}

ServerReadDatas(buffer,sockb);

#ifdef DEBUG
printf("[%s]\n",buffer);

#endif
close(socka);
close(sockb);
SendEmailInterval(atoi(buffer));
MakeWebPage(atoi(buffer));
}

}
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/* TCP Server */

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <ctype.h>
#include <errno.h>
#include <sys/types.h>
#include <sys/ioctl.h>
#include <sys/socket.h>



#include <netinet/in.h>
#include <netdb.h>
#include <sys/stat.h>
#include <fcntl.h>
#include <unistd.h>
#include <malloc.h>

int writer_len; // Data Write Length
struct sockaddr_in reader_addr; // read socket
struct sockaddr writer_addr; // write socket
int readedbytes;

int readbytes;

char *p;

char AcceptedIP[256];

#define CNT_BYTES (6)
#define TESTPORT (8001)

/*
Read specified bytes from client
*/

void ReadBytes(int fd,char *buff,int bytes)
{

int readbytes;

int readedbytes;

char *p;

p = buff;
readbytes = bytes;
readedbytes = 0;
bzero(buff,bytes);

for(;;)
{
if(0 > (readedbytes = read(fd,p,readbytes)))
{
printf("ReadError in Line %d.\n",__LINE_);

}

if(bytes > readbytes)
{
p = p + readedbytes;
readbytes = readbytes - readedbytes;
}

else
break;



/*
Server Ready
*/

int  Serverlnit(int port) // return Socket

{

int yes=1;
int usv;

int  sockfd;

if(0 > (sockfd = socket(PF_INET, SOCK_STREAM,0))) // Make Socket

{

perror("SERV: reader: socket");

return -1;

}
bzero((char *)(&reader_addr),sizeof(reader_addr));  // clear struct for read
reader_addr.sin_family = PF_INET; // set value to struct
reader_addr.sin_addr.s_addr = htonl(INADDR_ANY); // set value to struct
reader_addr.sin_port = htons(port); // set value to struct
setsockopt(sockfd,

SOL_SOCKET,SO_REUSEADDR,(const char *)&yes,sizeof(yes));  // Set Socket options

if(0 > bind(sockfd,(struct sockaddr *)(&reader_addr),sizeof(reader_addr)))  // set bind

{
perror("SERV: reader: bind");
return -1;

}

if(0 != listen(sockfd,50))  // wait the connection

{
perror("SERV: reader: listen");

close(sockfd);
return -1;

}

return sockfd;

}

int  Waitlncomming(int waitsock)

{

int new_sockfd;

writer_len = sizeof(writer_addr);



if(0 > (new_sockfd = accept(waitsock,(struct sockaddr *)(&(writer_addr)),(socklen_t *)
(&(writer_len)))))

{
perror("SERV: reader: accept");
return(-1);

}

bzero(AcceptedIP,255);
// (void)strcpy(AcceptedIP,(char *)inet_ntoa(writer_addr.sin_addr));

return new_sockfd;

}

void ServerReadDatas(char *DataBuffer,int fda)
{

int cnt;

int len;

char counter[CNT_BYTES+2];

ReadBytes(fda,counter, CNT_BYTES);
counter[ CNT_BYTES]=(char)0;
len = atoi(counter);

ReadBytes(fda,DataBuffer,len);
DataBuffer[len] = (char)0;

}
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